Morse lemma

we will show

 $\frac{\text{lemma:}}{\text{given a critical point } \rho \in W^{n} \text{ of } f: W^{n} \rightarrow IR \text{ of index } R_{1}$ $\exists \text{ coordinates } \phi: U \rightarrow V \text{ about } \rho \text{ st } \phi(o) = \rho \text{ and}$ $f \circ \phi(x_{1}, \dots, x_{n}) = f(\rho) - \chi_{1}^{2} - \dots - \chi_{k}^{2} + \chi_{ker}^{2} + \dots + \chi_{n}^{2}$

50 upto change of coordinates, functions with such critical points all book the same

warmup ID:
If fiR-JR has a critical point at 0, and
L is first posi integes s.t.
$$\frac{3f}{3\times 2}(0) \neq 0$$
, they
 \exists "wordinates" ϕ : $V \rightarrow V$ for 0 in R
s.t. $\phi(0)=0$ and $f_0\phi(y)=f(0)\pm y^{R}$
SO in ID "all" critical points have "normal form"

$$\frac{Proof}{note} = \int_{0}^{t} \frac{df}{dt}(xt_{i}) dt_{i}$$

$$= \int_{0}^{t} \frac{df}{dx}(xt_{i}) \times dt_{i} = x \int_{0}^{t} \frac{df}{dx}(xt_{i}) - \frac{dt}{dx}(0) dt_{i}$$

$$= x \int_{0}^{t} \int_{0}^{t} \frac{d^{2}f}{dt_{i}dx}(xt_{i}, t_{i}) dt_{i} dt_{i}$$

$$= x^{2} \int_{0}^{t} \int_{0}^{t} \frac{d^{2}f}{dt_{i}dx}(xt_{i}, t_{i}) dt_{i} dt_{i}$$

$$= x^{2} \int_{0}^{t} \int_{0}^{t} \frac{d^{2}f}{dx^{2}}(xt_{i}, t_{i}) dt_{i} dt_{i}$$

$$= x^{2} \int_{0}^{t} \int_{0}^{t} \frac{d^{2}f}{dx^{2}}(xt_{i}, t_{i}) dt_{i} dt_{i}$$

$$= x^{2} g(x) \qquad g(x)$$
and $g(0) = \int_{1}^{t} f^{(2)}(0) \neq 0$

So set
$$\phi = \psi^{-1}$$
 and notice that
 $f \circ \phi(y) = \varepsilon^{2} \psi(\phi(y))^{2} + f(o)$
 $= f(o) + \varepsilon^{2} y^{2}$
(41)

exercise: Proove that for a non-critical point
$$p$$
 of $f: W \to \mathbb{R}$
 $\exists a \ coordinate \ chart \ \phi: U \to Y \ around \ p \ st.$
 $f \circ \phi(x_{i}, ..., x_{n}) = x_{i}$

In general, higher order critical points con't (?) always be put in normal form, but for non-degenerate ones we can!

Proof of Morse lemma 1: take any coordinate chart 4 sending 0 to p, writing f in these coordinants (19. for 4 but we just write f)

 $\left(\frac{\partial^2}{\partial x_1 \lambda x_3}, f \right|_0$ can be diagonalized by an appropriate choice of basis.

$$\begin{aligned} \begin{array}{l} \text{H } L: \mathbb{R}^{n} \rightarrow \mathbb{R}^{n} \quad \text{is this change of basis map then} \\ & \text{replace } \Psi \text{ by } \Psi \circ B \quad (\text{still call } i \neq \Psi), \quad \text{then } f \text{ in these} \\ & A = \left(\frac{2^{-}}{2 \times 2^{N} j}, \frac{1}{2} \right) = \left(\frac{1}{2^{-1} + 1}, \frac{1}{2^{N} + 1}\right) \end{aligned}$$

$$\begin{aligned} \text{to further normalize } f \circ \Psi \text{ we write in is a special way} \\ & f(x) - f(x) = \int_{0}^{1} \frac{1}{2^{N}} f(ex) \, dt \\ & = \sum_{i=1}^{n} \int_{0}^{1} \frac{2^{N}}{2^{N} i} (tx) \, x_{i} \, dt \\ & = \sum_{i=1}^{n} \int_{0}^{1} \int_{0}^{1} \frac{2^{N}}{2^{N} i} (sx) \, ot \, ds \, x_{i} \, x_{i} \\ & = \sum_{i,j=1}^{n} \int_{0}^{1} \int_{0}^{1} \frac{2^{N}}{2^{N} i} \frac{1}{2^{N} i} (sx) \, ot \, ds \, x_{i} \, x_{i} \\ & = \sum_{i,j=1}^{n} \int_{0}^{1} \int_{0}^{1} \frac{2^{N}}{2^{N} i} \frac{1}{2^{N} i} \int_{0}^{1} \frac{2^{N}}{2^{N} i} \frac{1}{2^{N} i} \int_{0}^{1} \frac{1}{2^{N} i} \int_{0}^{1} \frac{1}{2^{N} i} \int_{0}^{1} \frac{1}{2^{N} i} \int_{0}^{1} \frac{1}{2^{N} i} \int_{0}^{1} \frac{1}{2^{N} i} \frac{1}{2^{N} i} \int_{0}^{1} \frac{1}{2^{N} i} \frac{1}{2^{N} i} \int_{0}^{1} \frac{1}{2^{N} i} \int_{0}^{1} \frac{1}{2^{N} i} \frac{1}{2^{N} i} \int_{0}^{1} \frac{1}{$$

$$\therefore f \text{ we set } \phi = \psi^{-1} \text{ then}$$

$$f_{o}\phi(y) = f(o) + \Psi(\phi(y))^{\dagger} A \Psi(\phi(y))$$

$$= f(x) + y^{\dagger} A y$$

$$= f(x) - y_{1}^{2} - - y_{k}^{-1} + y_{k}^{2} + \cdots y_{k}$$

$$\frac{f(x) - y_{1}^{2} - - y_{k}^{-1} + y_{k}^{2} + \cdots y_{k}$$

$$\frac{f(x) - y_{1}^{2} - - y_{k}^{-1} + y_{k}^{2} + \cdots y_{k}$$

$$\frac{f(x) - y_{1}^{2} - - y_{k}^{-1} + y_{k}^{2} + \cdots y_{k}$$

$$\frac{f(x) - y_{1}^{2} - - y_{k}^{-1} + y_{k}^{2} + \cdots y_{k}$$

$$\frac{f(x) - y_{1}^{2} - - y_{k}^{-1} + y_{k}^{2} + \cdots y_{k}$$

$$\frac{f(x) - y_{1}^{2} - - y_{k}^{-1} + y_{k}^{2} + \cdots y_{k}$$

$$\frac{f(x) - y_{1}^{2} - - y_{k}^{-1} + y_{k}^{2} + \cdots y_{k}$$

$$\frac{f(x) - y_{1}^{2} - - y_{k}^{-1} + y_{k}^{2} + \cdots y_{k}$$

$$\frac{f(x) - y_{1}^{2} - - y_{k}^{-1} + y_{k}^{2} + \cdots y_{k}$$

$$\frac{f(x) - y_{1}^{2} - - y_{k}^{-1} + y_{k}^{2} + \cdots y_{k}$$

$$\frac{f(x) - y_{1}^{2} - - y_{k}^{-1} + y_{k}^{2} + \cdots y_{k}$$

$$f(x) = f(x) - y_{1}^{2} + \cdots y_{k}^{2} + y_{k}^{2} + \cdots y_{k}$$

$$f(x) = f(x) - y_{1}^{2} + \cdots y_{k}^{2} + y_{k}^{2} + \cdots y_{k}$$

$$f(x) = f(x) - y_{1}^{2} + \cdots + y_{k}^{2} + \cdots + y_{k}^{2} + \cdots + y_{k}^{2} + \cdots + y_{k}^{2} + y_{k}^{2} + \cdots + y_{k}^{2} + y_{k}^{2} + y_{k}^{2} + \cdots + y_{k}^{2} + y_{k}^{2} + y_{k}^{2} + y_{k}^{2} + \cdots + y_{k}^{2} +$$

Proof of Morse lemma Z: example of a "M

example of a "Moser trick" let critical point be 0
let
$$A = \text{Hess } f_0$$
 and $Q = \frac{1}{2} x^{\pm} A x$ (note Hess $Q_0 = A$)
consider $f_{\pm} = (1-\pm)Q + \pm f$
we want to find a family of diffeomorphisms ϕ_1
(defined near 0) so that
 $\phi_0 = id$ and
 $\circledast \quad \phi_{\pm}^* f_{\pm} = Q$
if we find the f_{\pm} , then f_1 is the desired coordinate
we look for f_{\pm} as the flow of a vector field U_{\pm}
that is $\left\{ \frac{d}{d_{\pm}}(\phi_{\pm}(x)) = U_{\pm}(\phi_{\pm}(x)) \right\}$
 $differentiating (\bigoplus w.r.t. \pm gives)$
 $0 = \phi_{\pm}^* \left(\int_{U_{\pm}} f_{\pm} + \frac{\partial f_{\pm}}{\partial \pm} \right) = \phi_{\pm}^* \left(df_{\pm}(U_{\pm}) + f - Q \right)$
so we want T_{\pm} to satisfy:
 $0 = \phi_{\pm}(Q_{0}) - f_{0} = 0$ and
 $dg_{0} = dQ_{0} - df_{0} = 0$
as before we can write $g(x) \neq s$
 $g(x) = x^{T} G_{x} \chi$ for some matrix G_{x}
 $depending on x$
note: $G_{0} = \text{Hess } f_{0}$ so G_{0} invertable as is G_{x}
for small x

now consider $(df_{t})_{k}(v_{t}) = (df_{t})_{k}(v_{t}) - (df_{t})_{0}(v_{t})$ $= \int_{0}^{t} \frac{d}{ds} (df_{t})_{sx}(v_{t}) ds$ $= \int_{0}^{t} \frac{d}{ds} \left(\sum (v_{t})_{i} \frac{\partial f_{t}}{\partial x_{t}}(sx) \right) ds$ or above $= \int_{0}^{t} \frac{d}{ds} \left(\sum (v_{t})_{i} \frac{\partial f_{t}}{\partial x_{t}}(sx) \right) ds$ $= \int_{i,j}^{t} (v_{t})_{i} x_{j} \int_{0}^{t} \frac{\partial^{2} f_{t}}{\partial x_{t}} (sx) ds$ $= \int_{i,j}^{t} (v_{t})_{i} x_{j} (B_{x})_{ij}$ $so (df_{t})_{x} (v_{t}) = x^{T} B_{x} v_{t}$ note $B_{0} = \left(\frac{\partial^{2} f_{t}}{\partial x_{t} \partial x_{j}}(s)\right)$ so is invertable : B_{x} invertable near 0

Now \bigotimes becomes $\chi^{T} B_{x} v_{t} = \chi^{T} G_{x} \chi$ Set $v_{t} = B_{x}^{-1} G_{x} \chi$ and note v_{t} satisfies \bigotimes and hence the flow ϕ_{t} of v_{t} satisfies \bigotimes